* %

Plusrechnen tot 20 000

Addieren

Aufgabe 1 Aufgabe 2

1. 4424 + 2457 = 1. 3639 + 2252 =
2. 9187 + 2421 = 2. 8025 + 6471 =
3. 7970 + 3025 = 3. 5857 + 4360 =
4. 5248 + 4639 = 4. 3766 + 2294 =
5 9679 + 5320 = 5 7125 + 2589 =
6. 5803 + 3779 = 6. 5122 + 5097 =
7. 9732 + 2707 = 7.0 9991 + 2952 =
8. 7942 + 5811 = 8. 9172 + 7967 =
9. 9286 + 4147 = 9. 8752 + 3484 =
10. 8747 + 4076 = 10. 8523 + 8494 =
Aufgabe 3 Aufgabe 4

1. 5199 + 3330 = 1. 8894 + 8214 =
2. 8749 + 8081 = 2. 9339 + 4820 =
3. 8486 + 3000 = 3. 9104 + 2311 =
4. 6279 + 2372 = 4. 8667 + 7600 =
5 6284 + 3135 = 5 9075 + 4887 =
6. 9730 + 3618 = 6. 2938 + 2421 =
7. 7257 + 4584 = 7. 4470 + 4327 =
8. 7240 + 6976 = 8. 4871 + 3410 =
9. 3595 + 2048 = 9. F722 + 4357 =
10. 3087 + 2772 = 10, 9824 + 8634 =
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* %

Addieren

Aufgabe 1 Aufgabe 2

1. 4424 + 2457 = 6 881 1. 3639 + 2252 = 5 891
2. 9187 + 2421 = 11 608 2. 8025 + 6471 = 14 496
3. 7970 + 3025 = 10 995 3. 5857 + 4360 = 10 217
4. 5248 + 4639 = 9 887 4. 3766 + 2294 = 6 060
5 9679 + 5320 = 14 999 5 7125 + 2589 = 9 714
6. 5803 + 3779 = 9 582 6. 5122 + 5097 = 10 219
7. 9732 + 2707 = 12 439 7.0 9991 + 2952 = 12 943
8. 7942 + 5811 = 13 753 8. 9172 + 7967 = 17 139
9. 9286 + 4147 = 13 433 9. 8752 + 3484 = 12 236
0. 8747 + 4076 = 12 823 10. 8523 + 8494 = 17 017
Aufgabe 3 Aufgabe 4

1. 5199 + 3330 = 8 529 1. 8894 + 8214 = 17 108
2. 8749 + 8081 = 16 830 2. 9339 + 4820 = 14 159
3. 8486 + 3000 = 11 486 3. 9104 + 2311 = 11 415
4. 6279 + 2372 = 8 651 4. 8667 + 7600 = 16 267
5 6284 + 3135 = 9 419 5 9075 + 4887 = 13 962
6. 9730 + 3618 = 13 348 6. 2938 + 2421 = 5 359
7. 7257 + 4584 = 11 841 7. 4470 + 4327 = 8 797
8. 7240 + 6976 = 14 216 8. 4871 + 3410 = 8 281
9. 3595 + 2048 = 5 643 9. F722 + 4357 = 12 079
10. 3087 + 2772 = 5 859 10, 9824 + 8634 = 18 458
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